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Configuration
X, Analysis <Static 3D A longitudinal stress point 1 @ @Ii‘
Geometry = 73.5
= # Compenents & Materials - £5.21
i}a Default <0 elements> [ ] 56.91
-8 Pannelli <300 elements> :
™ Pannellstura 48.61
in Telaio <130 elements> 40.31
T TB60xE0x4 32.01
= Hile Traversi <60 elements> 23.71
L\ TB_100x30x5 15.42
=i+ % Loads & Constraints 7.118
+ %, displacement <X> -1.181
+ - My displacement <> _9.479
- %, displacement <Z:\Z _17.78
: gravlty<'\17.5mf5> 26 0a
- My pressure <780 Pa>
514y pressure <390 Pa> B -34.37
- %y line pressure =150 N/m> - -42.67
-y line pressure <2.13E+03 N/m - -50.97
+]- My pressure <100 Pa> = -59.,27
+)- My pressure <100 Pa> MPa

Named Selections
-[fp Frame_Element_Loaded <20
@ Restrained_Modes <4 nodes>

. An error has cccurred in Mecway:
[ Under_Wind_Face <100 faces
g Un er_W!nd_Face <100 :EE: System.IndexOutOfRangeException
N ool Flper_ ind_Face aces) Indice cltre i limiti della matrice.
=4 Selution

& Components in Mecway.View5ettings.ColorOfiDouble Fraction, Boolean discrete)
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